Lecture 15

Tuesday, 25 October 2022 10:43

w2y

o I, ={’,5?
fr
D, = f',”,l)
1

Ds = SR QN T4p, 10, 2 {pm)f

D, = P[DJ) \ §
1, €0} (1) (L0),(5.2), (104 {10, 1}

by poulry wvey Ds et pei ~vise

7 (X V) ={op(zy))2eX, ye t)

oy

.
) 1 04 L L0 L 1L ad Lo g
; | 1] [ R
D | 0 1 0 0 L LlgdL ool
n 1 1l 1l L d

L oL

oL )

o |

ot |

dudy, #%mﬂwﬁ@wfmmwm 90
MWM%%W W Jelwon 2t

A decision reduction maps a decision set into a smaller decision set
by mapping all decisions of a set to decisions of a subset, while
leaving the decisions in the subset unchanged.
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